@ Bo rd e rtown Awareness. Engagement. Sales.

Retail Systems Displays that deliver.

Sales Office: 14250 Judicial Road - Minneapolis, MN 55306 | HQ And Factory: 118 Ist Street - Neche, ND 58265
Phone: 800-263-1338 - www.btdisplaygroup.com

3 Tier Headboard Display

Assembly Instructions

Main Hardware Bag Hook Adapter Kit Hardware Bolt Kit Hardware
2 1/4-20” x 3” hex bolts 3 left angle adapter plates 12 5/16" x 2 3/4" hex bolts
2 1/4-20" hex nuts 3 right angle adapter plates 12 5/16" flat washers
1 5/16” x 17 thumb screw 12 1/4-20" x 2" hex bolts 12 1/4-20" x 3" hex bolts
4 1/4" USS flat washers 12 1/4" hex nuts 12 1/4" hex nuts
24 1/4" flat washers 24 1/4" flat washers

1.

S
i
4. (if using bolt kit) =
5. (if using hook-adapter kit)

ﬁ Q°®
T
I

Disclaimer: This equipment is designed only for the display of headboards and must be used solely for this purpose. Manufacture is not liable for injury or product damage as a
result of misuse of this display. One year limited warranty on manufacturers’ defects only. Do not exceed 300Ibs overall weight capacity.

/@
/

@
— — — /

<
ﬂ
>l
U
l

§
H
| °°
ﬂ
ﬂ






